

$$1) \bar{x}_C = \left( \frac{1}{2} g t^2 + R \sin \vartheta \right) \bar{e}_1 - R \cos \vartheta \bar{e}_2 \quad \bar{\omega} = \dot{\varphi} \bar{e}_3$$

$$\bar{v}_C = (g t + R \cos \vartheta \dot{\vartheta}) \bar{e}_1 + R \sin \vartheta \dot{\vartheta} \bar{e}_2$$

$$\bar{a}_C = (g + R \cos \vartheta \ddot{\vartheta} - R \sin \vartheta \dot{\vartheta}^2) \bar{e}_1 + R (\sin \vartheta \dot{\vartheta} + \cos \vartheta \dot{\vartheta}^2) \bar{e}_2$$

$$T = \frac{1}{2} m v_C^2 + \frac{1}{2} \bar{\omega} \cdot \mathbb{I}_G \bar{\omega} = \frac{1}{2} m [R^2 \dot{\vartheta}^2 + g^2 t^2 + 2 R g t \cos \vartheta \dot{\vartheta}] + \frac{1}{2} \frac{m e^2}{3} \dot{\varphi}^2$$

$$V = m g y_C + \frac{k}{2} (C-D)^2 = -m g R \cos \vartheta + k R e \cos(\vartheta - \varphi) + \text{cost.}$$

$$(C-D)^2 = (R \cos \vartheta + e \cos \varphi)^2 + (R \sin \vartheta + e \sin \varphi)^2 = R^2 + e^2 + 2 R e (\cos \vartheta \cos \varphi + \sin \vartheta \sin \varphi) \\ = 2 R e \cos(\vartheta - \varphi) + R^2 + e^2$$

$$L = \frac{m}{2} (R^2 \dot{\vartheta}^2 + g^2 t^2 + 2 R g t \cos \vartheta \dot{\vartheta}) + \frac{m e^2}{6} \dot{\varphi}^2 + m g R \cos \vartheta - k R e \cos(\vartheta - \varphi)$$

$$\approx \frac{m}{2} R^2 \dot{\vartheta}^2 - m g R \sin \vartheta + \frac{m e^2}{6} \dot{\varphi}^2 + m g R \cos \vartheta - k R e \cos(\vartheta - \varphi) + \frac{m}{2} \frac{d}{dt} [g^2 t^3 + 2 g R t \sin \vartheta]$$

$$m R^2 \ddot{\vartheta} = -m g R (\cos \vartheta + \sin \vartheta) + k R e \sin(\vartheta - \varphi)$$

$$\frac{m e^2}{3} \ddot{\varphi} = -k R e \sin(\vartheta - \varphi)$$

$$2) V_{\text{eff}} = m g R (\sin \vartheta - \cos \vartheta) + k R e \cos(\vartheta - \varphi)$$

$$V_{\varphi} = +k R e \sin(\vartheta - \varphi) = 0 \quad \text{re} \quad \begin{matrix} \varphi = \vartheta \\ \varphi = \vartheta + \pi \end{matrix}$$

$$V_{\vartheta} = m g R (\cos \vartheta + \sin \vartheta) - k R e \sin(\vartheta - \varphi) = 0 \quad \text{re} \quad \tan \vartheta = -1 \quad \vartheta = -\frac{\pi}{4}, \frac{3\pi}{4}$$

$$\text{Equilibrio: } 1) \vartheta = \varphi = \frac{3\pi}{4} \quad 2) \vartheta = \frac{3\pi}{4}, \varphi = -\frac{\pi}{4} \quad 3) \vartheta = \varphi = -\frac{\pi}{4} \quad 4) \vartheta = -\frac{\pi}{4}, \varphi = \frac{3\pi}{4}$$

$$V_{\varphi\varphi} = -k R e \cos(\vartheta - \varphi) \quad V_{\vartheta\vartheta} = -m g R (\sin \vartheta - \cos \vartheta) - k R e \cos(\vartheta - \varphi) \quad V_{\vartheta\varphi} = k R e \sin(\vartheta - \varphi)$$

Maiores nei casi 1) e 3)  $V_{\varphi\varphi} < 0$ , equilibrio instabile

$$\text{caso 2) } \mathcal{H} = \begin{pmatrix} k R e & -k R e \\ -k R e & k R e - \sqrt{2} m g R \end{pmatrix}, \text{ Hessiano } < 0, \text{ eq. instabile}$$

$$\text{caso 4) } \mathcal{H} = \begin{pmatrix} k R e & -k R e \\ -k R e & k R e + \sqrt{2} m g R \end{pmatrix}, \text{ Hessiano } > 0, \text{ eq. stabile}$$

$$3) H_{\text{eff}} = \frac{m}{2} R^2 \dot{\vartheta}^2 + \frac{m}{6} e^2 \dot{\varphi}^2 + m g R (\sin \vartheta - \cos \vartheta) + k R e \sin(\vartheta - \varphi)$$

$$4) m \bar{g} + k(D-C) + \bar{F} = m \bar{a}_C \quad -m g \bar{e}_2 + k(l+e) \bar{e}_2 + \bar{F} = m \bar{a}_C(0)$$

$$\frac{m e^2}{3} \ddot{\varphi}(0) = 0 \quad m R^2 \ddot{\vartheta}(0) = -m g R \quad \bar{a}_C(0) = \bar{0}$$

$$\bar{F} = (m g - k l - k e) \bar{e}_2$$